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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-I & 11 « EXAMINATION - WINTER 2013

Subject Code: 310029 Date: 26-12-2013
Subject Name: Engineering Drawing
Time: 2:30 pm - 05:30 pm Total Marks: 70
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Attempt any five questions.

Make suitable assumptions whrever necessary.
Figures to the right indicate full marks.
English version is considered to be Authentic.

A pictorial view of an object is shown in Fig — 1. Draw to full size its,
(1)Elevation, (2) Top view, (3) Left hand Side View in First angle Projection
Method. Give the dimensions using unidirectional system.

Draw a isometric view for a given Fig. - 2
Draw Ellipse by oblong method, having a major axis 120mm and minor axis
80mm.
OR
Draw a parabola by tangent method, having base 80mm and height 90mm.

Draw Archimedean spiral for one convolution, having smallest radius 10mm and
largest radius 70mm.
1) Illustrate different types of lines and give their uses.
2) Explain Unidirectional and aligned system of dimensioning with suitable
drawing.
OR
Draw a Cycloid curve for 50mm diameter cylinder.
Draw a Hexagon of 30mm sides by universal method.

A line MN 90mm long is inclined with HP at 45° and with VP 25°.
The end M is 25mm above HP and 40mm in front of VP. And end N is in first
quadrant Draw the projection of line MN.

30 mm sides , pentagonal plate is resting on it’s one side on the HP and surface of
a plate is inclined at 45° with HP. The side which is on the HP is inclined at 30°
with VP. Draw the projection of plate.

OR
A line PQ is 100mm long and making an angle of 40° with HP has it’s end P in the
HP and 12mm in front of VVP. The distance between end projectors is 36mm. Draw
a projection of a line PQ and determine it’s inclination with VVP.
A rectangular plate of 40mm X 60mm is resting on one of it’s shorter side on HP,
Such a way that it’s top view is a square of 40mm. Draw the projection of a plate
and find it’s inclination with HP.
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The Yearly Budged of a mechanical engineering company is as under
material  Rs 4,50,000, Wages of staff Rs. 3,60,000

Electricity Bill Rs1,80,000, Govt. taxes Rs. 1,20,000
Miscellaneous expenses Rs. 60,000

Draw the PIE chart for a given data.

Draw the free hand sketches of the following (Any Seven)

1) Square Thread, 2) Spring Washer,

3) Lifting Eye Bolt 4) Acme Thread,

5) Capstan Nut, 6) Counter Sunk Head Rivet,

7) Snap head Rivet 8) Double Rivet Zigzag Lap Joint
OR

Raw

Draw Horizontal Percentage Bar Chart for intake capacity of student of the

polytechnic collage.

Mechanical Engg. — 70, Civil Engg. — 60 , Computer Engg. — 40, 1.C. Engg. — 50 .

1) List equipment, instrument, material used for tracing .

2) State the method of storing and reproduction of drawing and explain ammonia

printing method.
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